df41341a-8257-43e0-8947-309be4c6a90a

Name: Class: Date:

Worksheet 6

Solving Word Problems

Solve.

Emma bought a blue cloth with a length of 400 cm to make a dress.
She bought another red cloth with a length of 250 cm.

What was the total length of the cloth she bought? l.
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The total length of the cloth she bought was cm.

Rope A is 15 m long.
Rope B is 6 m longer than Rope A.
How long is Rope B?
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Lulu walked 2 km 500 m to school.
Sam walked 1 km 200 m to school.
What was the total distance they walked to school?

Road A measured 3090 m.
Road A measured 400 m longer than Road B.
What was the length of Road B?
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